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Algebra Expressions answers

I. Complete the expressions using the order of operations.

@D 6+18+9-2x2-4

@D B8x3-4+12:2- 26

@ 21:3+7-4x1- 10

@D MN-2x5+14+7-3

II. Combine like terms.

@ 3x+4x-= 7x

€ x +7x-= 8x

€ Sy-4y-y

@D 2x +3y-x= x+ 3y

@ 6x-y+x=7x-y

@ 10y -2y -5x +9x = 8y - 14x

® 2y +8y-3x+y-= 11y - 3x

e

@

10+5+7-1x5-=4

20-3x3+10+2-=16

4x8-20+24+3=-20

9+6x5-16+1= 23

10x - 3x = /x

2y + 9y = 1ly

12y - 3y = 9y
4y - 4x + 2y = 6y - 4x

5x +2y - x + 4y = 4x + by

X +y+6x+7y=/x+8y
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